

$$\frac{4}{11} + \frac{4}{9} =$$

$$\frac{8}{500} : \frac{40}{500} =$$

$$\frac{3}{3} - \frac{2}{5} =$$

$$1\frac{1}{3} : 1\frac{2}{5} =$$

$$\frac{2}{11} \times 3 =$$

$$7\frac{1}{5} - 6\frac{4}{9} =$$

$$1\frac{1}{2} \times 2\frac{2}{4} =$$

$$\frac{7}{2} \times \frac{7}{6} =$$



$$\frac{4}{11} + \frac{4}{9} = \frac{36}{99} + \frac{44}{99} = \frac{80}{99}$$

$$\frac{8}{500} : \frac{40}{500} = \frac{\cancel{8}}{\cancel{500}} \times \frac{\cancel{500}}{\cancel{40}} = \frac{1}{5}$$

$$\frac{3}{3} - \frac{2}{5} = \frac{15}{15} - \frac{6}{15} = \frac{9}{15} = \frac{3}{5}$$

$$1\frac{1}{3} : 1\frac{2}{5} = \frac{4}{3} : \frac{7}{5} = \frac{4}{3} \times \frac{5}{7} = \frac{20}{21}$$

$$\frac{2}{11} \times 3 = \frac{6}{11}$$

$$7\frac{1}{5} - 6\frac{4}{9} = 7\frac{9}{45} - 6\frac{20}{45} = 6\frac{54}{45} - 6\frac{20}{45} = \frac{34}{45}$$

$$1\frac{1}{2} \times 2\frac{2}{4} = \frac{3}{2} \times \frac{\cancel{10}}{\cancel{4}} = \frac{15}{4} = 3\frac{3}{4}$$

$$\frac{7}{2} \times \frac{7}{6} = \frac{49}{12} = 4\frac{1}{12}$$

